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@ (I1F) FIFARAIL bk (SB-F,SB-E) ik EMEW (S)+29)2-4T 4 4 Y 2 0.5 0.5 0.0 0.0 0 1.6 -0.35 Ly 0 3 X 2 0.5 0.5 0.6 0.9 3
w (~) 5lE&&F &% (HD-B10, S-HD10, HD-N10) 5 0 Y 0.5 0.0 0.5 0.5 0.0 0.5 1.6 -1.1 Ly 0 4 X 0. 0.0 0.5 0.6 0.6 L
Z (&) 5l EF &% (HD-B15, S-HD15, HD-N15) 5 4 X 0 0.0 0.5 2.0 -0.5 0.5 1.6 -0.85 Ly 0 5 X 2 0.5 0.5 0.6 0.9 3
E (5) SlEFE &% (HD-20, S-HD20, HD-N20) 5 5 X 0 0.0 0.5 2.0 0.5 0.5 1.6 -0.35 N 5. 00 6.00 0 7 X 2 -0.5 0.5 0.6 0.4 E)
& (Y) 5l =F &% (HD-B25, S-HD25, HD-N25) 5 7 X 2 0.5 0.5 2.0 0.5 0.5 1.6 0.9 3 5. 00 6.00 0 8 X 2 0.5 0.8 0.4 2 &
E (%) SlEHF L&Y x 248 (HD-B15, S-HD15, HD-N15) 5 8 X 2 -0.5 0.5 0.0 0.0 0 1.6 -0.85 N 0 8 Y 0. 0.0 0.8 0.4 0 Ly
E‘E (=) ERIMES (NMES. 60LLE) (N{ET.50%F T XHD-20 x 248) 5 8 Y 2.5 -0.5 0.5 2.5 -0.5 0.5 1.6 0.4 ) 1 0 Y 0. 0.0 0.5 0.6 -0.35 Ly
6 0 X 2 -0.5 0.5 0.0 0.0 0 1.6 -0.85 A 1 8 Y 0. 0.0 0.5 0.6 -0.35 Ly
6 0 Y 0.5 0.0 0.5 2.5 -0.5 0.5 1.6 -0.35 2 3 0 Y 0. 0.0 0.5 0.6 -0.35 Ly
3L o 3 t£x14608
ﬁ'ﬁ %nuﬂ@*iiﬁ (|:|7R F) 6 1 X 0 1.0 0.5 0.0 0.0 0 1.6 -1.1 N 3 8 Y 2 0.5 0.5 0.6 0.9 %
% B LA 5x9.0(1.0) B LA 5x9.0(1.0) 6 2.5 X 2 -0.5 0.5 0.0 0.0 0 1.6 -0.85 N 4 0 Y 0. 0.0 0.5 0.6 -0.6 Ly
% 5 A LB 85 9mmid £ (1. 0) B A L 8 5 9mmid £ (1.0) 6 8 Y 2.5 0.5 0.5 0.0 0.0 0 1.6 -0.1 Ly 5 0 Y 0. 0.0 0.5 0.6 -0.35 Ly
% A5 A LVAS. 0x9.0(1.5) BRI L— bk (BP) 7 0 Y 0 0.0 0.5 0.0 0.0 0 1.6 -1.6 N 5 4 X 2 -0.5 0.5 0.6 0.15 E)
% A5 A LVvAR4. 5x9.0(2.0) BE LT L— bk (BP-2) 7 4 Y 2 -0.5 0.5 0.0 0.0 0 1.6 -0.85 N 5 6 X 2 0.5 0.5 0.6 0. 65 E)
% AL A9 06 (3.0) BE LT L— bk (BP-2) 7 8 Y 0.5 0.0 0.5 0.5 0.0 0.5 1.6 -1.1 N 5 8 Y 2 -0.5 0.5 0.6 0.4 E)
8 0 X 2.5 -0.5 0.8 0.5 0.0 0.8 1 1 3 6 0 Y 2 -0.5 0.5 0.6 0.4 E)
QMFLWJ 3:1/100 8 0 Y 0.5 0.0 0.8 2.5 0.5 0.8 1 1.8 ~ 7 8 Y 0. 0.0 0.5 0.6 -0.35 L
8 1 X 0 1.0 0.5 0.0 0.0 0 1.6 -1.1 N 8 0 X 0. 0.0 0.8 0.4 0 L
8 2.5 X 2.5 -0.5 0.5 0.5 0.0 0.5 1.6 -0.35 N 8 0 Y 2 0.5 0.8 0.4 2 &
8 4 X 0 0.0 0.5 2.0 -0.5 0.5 1.6 -0.85 A 8.00 5.00 8 2.5 X 0. 0.0 0.5 0.6 -0.35 Ly
8 4 Y 2 0.5 0.5 0.0 0.0 0 1.6 -0.35 N 8 5 X 2 -0.5 0.5 0.6 0.15 E)
8 6 X 0 0.0 0.5 2.0 0.5 0.5 1.6 -0.35 N 8 6 X 2 0.5 0.5 0.6 0. 65 E)
8 8 Y 0. 0.0 0.8 0.4 0 Ly
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! (&) | «.6017+2 6387) x 2. 5925+ 2 5.4966 at 17.73
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NA A NA A
X4 X5 X6 X8

< 2K BLESERAR >

Y#ARRE 23 X
4,550 0.50 0.000
1.820 2.00 0.000
3.640 0.50 7.280
1.820 2.00 7.280

Sx 3.4944 B

X@WHABES fa® Y
3.640 0.50 0.000
3.640 2.00 0.000
1.820 2.00 4.550
2.275 0.50 7.280
0.910 2.00 7.280

Sy 2.4267 3

ex= 3.4944- 3.6400=-0. 1456
ey= 2.4267- 3.6400=-1.2133

Sx 3.7941 &

X@wHAEES fa®
3.640 0.50
3.640 2.00
1.820 2.00
0.910 2.00
2.275 2.00
2.275 0.50
3.185 2.00
0.910 0.50
1.365 4.00

Sy 5.0782

ex= 3.7941- 3.7997=-0. 0056
ey= 5.0782- 4.2829= 0.7953

rex=y ( 773.5285 + 32.5325)=
rey=y ( 773.5285 + 28.8925)

Ly Ly*X (X-$x) %2
2,275 0.0000 12,2108
3.640  0.0000 12,2108
1820 13.2496 14.3308
3.640  26.4992 14.3308
11375 39.7488

Lx Lx#Y (Y-Sy) #x2
1,820 0.0000 5.8887
7280 0.0000 5.8887
3.640 16,5620 4.5085
1138 8.2810 23.5548
1820 13.2496 23.5548
15698 38.0926

rex=y (12901349 + 15.6975)= 4.2992
rey=y" ( 290.1349 + 11.3750)= 5.0504

Ly Ly*X (X-$x) %2
3.185  0.0000 14. 3949
7.280  0.0000 14. 3949
0.683  1.5527 2.3075
5.460 19.8744 0.0237
0.455 20703 0.5715
3.640  26.4992 12,1518
8.190  59.6232 12,1518
28.892 109.6197

Lx Lx#Y (Y-Sy) #x2
1,820 0.0000 25.7879
7.280  0.0000 5.7879
3.640  13.2496 2.0684
1820 8.2810 0.2790
4,550 24,8430 0.1458
1138 8.2810 4.8480
6.370  46.3736 4.8480
0.455  4.5545 24.3228
5.460  59.6232 34.1268

32.532 165.2060

Lk (Y-Sy) #42
9340

187.7361
7.5289

< 2B KEW-BONEREER >

ERE =AMER (s) ZARED () ZARE
Ly (X=8x) %x2 RES Xi Yi (Xi*Yi+1-Xi+1xYi) /2 (Xi+Xi+1)/3 (Yi+Yi+1)/3
27.71796 P-1 0.000  0.000 0.0000 2.427 0.000
44.4474 P-2 7.280 0.000 26.4992 4.853 2.427
26.0820 P-3 7.280 7.280 26.4992 2.427 4.853
52.1640 P-4 0.000 7.280 0.0000 0.000 2.427
Iy 150. 4731 b A 52.9984
Lx* (Y-Sy) %x2
10.7175 < 1B REHE- BOEERLE >
42,8698 ERE =HBMBER(s) EABED (x) =HBED (gy)
16. 4111 RES X Yi (Xi*Yi+1-Xi+1%Yi) /2 (Xi+Xi+1)/3 (Yi+Yi+1)/3
26.7936 P-1 0.000 0.000 0.0000 2.427 0.000
42.8698 P-2 7.280 0.000 39.7488 4.853 3.640
Ix 139.6618 P- 3 7.280 10.920 14.9058 3.943 7.280
Kr 290.1349 P-4 4,550 10.920 -2.0703 3.033 6.977
{@ 1> B Rex= 0. 2822 P- 5 4.550 10.010 11.3864 2.275 6.673
&0 FERey= 0.0288 P-6 2.275 10.010 -3.1054 1.517 5.763
P-7 2275 7.280 8.2810 0.758 4.853
P-8 0.000 7.280 0.0000 0.000 2.427
i A 69. 1464
Ly* (X-8x) **2
45.8476
104. 7945 BELFE wmH A R *A(s)
1.5749 10 15 69.1464 1037.1953 3. 9465 4.8742
0.1296 2 B 18 52.9984  953.9712 3. 6400 3. 6400
0. 2600 i 1991. 1665
44.2326
99.5233
Iy 296.3626

<< REHE - Bb BEX >>

FRE AR () Eibx (m) Eibym
1B 69. 1464 3.7997 4.2829
2 B 52.9984 3. 6400 3. 6400

s*gX

0. 0000
128.6095
64.3047
0. 0000
192.9142
3. 6400

s*gX

0000
9142
7185
2798

. 9040
. 7098
. 2798
. 0000

8869

3. 9465

4093. 3035
3472. 4552
7565. 7586
3.7997

s*gy

0.0000
64.3047
128. 6095
0.0000
192.9142
6y 3.6400

sxgy

0000
6856
5142
4434
9851
8973
1905

. 0000

0346

Gy 4.8742

5055. 5194
3472. 4552
8527. 9746
Gy 4.2829
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